DU MEd

Topic:- DU_J19_MED

1) Classification of Personality as Extrovert, Introvert and Ambivert was given by
aTeaHdE), IeaddE AR TE F W A safdaca w1 aeiteor fraa R
[Question ID = 746]

1. Spranger / ¥9+aiY [Option ID = 2982]
2. Kretchmer / $2a#&X [Option ID = 2981]
3. Jung / ST9T [Option ID = 2984]

4. Sheldon / s« [Option ID = 2983]

Correct Answer :-
« Jung / 59T [Option ID = 2984]

2) Which of the following statements regarding Sarva Shiksha Abhiyan is incorrect?
T et 3ffae F ey F Aafaf@a & O #iq 91 w7y a8

[Question ID = 745]

1. Universal retention by 2010 / 2010 T Jfeader RewT [Option ID = 2979]

2. All children to be in school by 2003. / 2003 de & s= fagaTera # gier| [Option ID = 2977]

3. All children to complete eight years of schooling by 2009. / §3fT s=d 2009 deh TS ATl I AT 8T
{1 X @f9T| [Option ID = 2980]

4. All children to complete five years of primary schooling by 2007. / @ <o 2007 o 9Td Tl @I UrAfHS
fRv&T g & @feT| [Option ID = 2978]

Correct Answer :-

« All children to complete eight years of schooling by 2009. / H38iI s=d 2009 deh 3116 HTol I [aeATer AT
fRrer gt & =f9T| [Option ID = 2980]

3) Which of the following Curriculum Frameworks stressed the connectivity between ‘the basic
ethos and curricular pursuits in school education’?

frfaf@a # @ fre ‘areg=at f TR F Regreada e F g SeEr 3R Teawa’ & i -
FaeY W A fer?

[Question ID = 696]

1. National Curriculum Framework 2000 / IS¢ qraa=&T i F93@T1 2000 [Option ID = 2782]
2. National Curriculum Framework 2005 / IsEIT qragadT &hr ®93@T 2005 [Option ID = 2781]
3. National Curriculum Framework 1988 / IsE1T UraI<dT dhr Fa3@T 1988 [Option ID = 2783]
4, National Curriculum Framework 1975 / IsEIT qraaadT &hr ®93@T 1975 [Option ID = 2784]

Correct Answer :-
« National Curriculum Framework 2000 / ISERT 9ragaT &t ®G¥@T 2000 [Option ID = 2782]
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4) Which of the following cannot be called a pure behaviorist

farafaf@a & & fH g T & IagRard) A¢T Fe1 ST Fhal ¢?
[Question ID = 749]

1. Edward Thorndike / T3as Uris18a [Option ID = 2994]
2. Albert Bandura / Wa@ [Option ID = 2995]

3. Ivan P. Pavlov / a1 91, 9raaiid [Option ID = 2996]

4, John B. Watson / SiTeT dT.arede [Option ID = 2993]

Correct Answer :-
+ Albert Bandura / 3reei¢ &gt [Option ID = 2995]

5) Which of the following are the assessment related mandates in RTE-2009?

1. No child admitted in school shall be held back in any class or expelled from school till
completion of elementary education.

2. Continuous and comprehensive evaluation of a child’s understanding of knowledge and his or
her ability to apply the same.

3. No child shall be required to pass any board examination till completion of elementary
education

4. The quality of assessment practices adopted by the teachers need to be centrally evaluated.

rNfaf@a # F9-¥ U7 HRAE -2009 F FAearFa ¥ wrafta saey §2

1. Rgzrera #F st e ot arars/ arforeT & grafas fRven & qu @ a% Rggrera ¥ fAsefaa adt B I,
o &1 3us! fonddt FaT & Qa1 FATTAM)

2. T2 AT A A AT TR A1) FIA T IHHT 4771 F1, Tad AN AT Aeg i |

3. Tt off a=2 &1 wrufAs Ran & Q0 A7 aF F$ a8 e 3ot FIa1 eI 7€ g

4. TY&THY ZART TATA IHTFT TUIIHT A AVTacal F FET Hediwa HT AT ¢

[Question ID = 674]

1.1,2,3and 4/ 1,2,3 3iX 4 [Option ID = 2694]
2.1,2 and 3/ 1,2 31X 3 [Option ID = 2695]
3.1,3and 4/ 1,3 31X 4 [Option ID = 2693]
4,1 and 3/ 1 3T 3 [Option ID = 2696]

Correct Answer :-
« 1,2and 3/ 1,2 3 3 [Option ID = 2695]

6) Which of the following pairing of a Maslowian need and a real-life example is incorrect?

frafaf@a # @ st a1 ‘Aredla f sraeawar AR aEafas shae J 30T FT ZIH Tod 82
[Question ID = 750]

1. Love and Belongingness Needs, Need to be accepted by others / 9& 37X faRary & 3maIshdIv, gERT EarT
EdIh fohT ST T HTageRdr [Option ID = 2999]

2. Self-Actualization Need, Need to realize one’s potential / 3TcH-TaTg HT INTRTHAT, ITAT &THT FT I
&1 [Option ID = 2998]

3. Esteem Need, Being Competent and accomplishments / 9fasaT &t 3Taedehdr, HeTHAT 3 3qerfesrar [Option
ID = 3000]

4, Physiological Need, Need to stay out of danger / QIR 3TaTHdT, WX T d18X T&a1 ohl HTG2THAT [Option
ID = 2997]

Correct Answer :-

»
collegedu nia
o - India’s largest Student Review Platform

el



 Physiological Need, Need to stay out of danger / QIR HTGITFAT, WA H 8T @ I T Har
[Option ID = 2997]

7) Which of the following refers to an intensive and in-depth study of one individual?

frafaf@a # & sl v safFa #71 e 3R FFa-ga sreaga w1 F vt Ftarg?
[Question ID = 671]

1. Case Study / cafsc-31¢g3=T [Option ID = 2683]

2. Experimental Research / Wﬂ?ﬂﬂiaﬁ_iﬁﬁﬂ?—r [Option ID = 2684]
3. Descriptive Research / aofaTca HsH=TeT [Option ID = 2681]
4. Ethnography / Faerfa=ire [Option ID = 2682]

Correct Answer :-
» Case Study / egfse-31egg+ [Option ID = 2683]

8) Which of the following type of disability is not included in the RPWD Act 20167
a. Acid Attack victim

b. Parkinson'’s disease

c. Hemophilia

d. Sickle Cell disease

RPWD »fafaa#® 2016 & A+ & ¥ g ot i yrgadar gFafaa adt fras @2
a. F-THATT ST

b. oiffEw DT

c. ¥fOFaaa

d. g FHfAFT A1

[Question ID = 739]

1.a&b/a&b[Option ID = 2954]
2. None of these / 3 & &Ig w1gT [Option ID = 2953]
3.b&c/b&c[Option ID = 2956]
4, c&d/c&d[Option ID = 2955]

Correct Answer :-
« None of these / T8 & &I3 =7gT [Option ID = 2953]

9) Which of the following is not a characteristic of the concrete-operational stage as
conceptualized by Piaget?

ot 3 & a7 | sraey, wAe TERT WHRfeud Ad-HiRATcAS HaEUT Y T fAerwar 78t 82
[Question ID = 730]

1. Mastery of identity / 9g=TeT T 93cd [Option ID = 2918]

2. Classification / @3ff&oT [Option ID = 2920]

3. Reversibility / Ioea-gerea $T Aeaar (WAfERTAE) [Option ID = 2919]
4. Abstract thinking / 3/ f=iasT [Option ID = 2917]

Correct Answer :-
« Abstract thinking / 34?1?% fIaeT [Option ID = 2917]

10) Which of the following is not a characteristic of mean?
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Arfaf@a & ¥ sta @ aegae Fir Rovar a8 22
[Question ID = 694]

1. it is used when the data is ordinal / SHeT IUTIIT TS i gl IR AT ST & [Option ID = 2774]
2. it is least affected by extreme scores / Ig Haltd TR & HH T HH THIAT &IdT & [Option ID = 2773]
3. its value is always greater than the mode / SHaHT AT, §H2T dgalle & 38 &idT & [Option ID = 2776]
4, the deviations at the mean is ‘Zero’ / H#EIHAT W Aol ‘Qﬂ?% [Option ID = 2775]

Correct Answer :-

11) Which of the following is not the impact of Wood's Dispatch?
frafaf@a # & #ia 33 & BT 1 yama 751 82
[Question ID = 713]

1. Professional education was encouraged. / caraariae e &1 Srcanfed foar s [Option ID = 2852]

2. Department of Public Instruction were abolished in all provinces. / @8t uidl & grasifas 3regerreT faarer r
HATCT &Y fear arar| [Option ID = 2849]

3. There was decrease in grant in aid. / Tl & 3eJaleT # el $T a7 [Option ID = 2850]

4. Religious neutrality in education was observed. / 18T & enfAe dexyar ¢@Y 3151 [Option ID = 2851]

Correct Answer :-
« There was decrease in grant in aid. / GgTIar # 31eTeTel # &t T 35| [Option ID = 2850]

12) Which of the following is not true for median?

el 7 @ #la augis F Read ad 2

[Question ID = 687]

1. it is the middlemost value when data is arranged in an order / STa f&h&EY & & 3Ths T cTITTAT H FTCT g,
dl Ig | #EG o gidT & [Option ID = 2745]

2. it is also called Percentile-50 / & gfaerdier-50 #it gr ST § [Option ID = 2746]

3. it is used to find quartile deviation / $HT ITANT TJATH A<l TistA & T foham STTar & [Option ID =
2747]

4. it is the most frequently occurring value / & He¥ T8 dR glel el e & [Option ID = 2748]

Correct Answer :-
« it is the most frequently occurring value / I8 Y 38 IR gt aTal A & [Option ID = 2748]

13) Which of the following mentions in its Preface - "Government accords the highest priority to
education both as a human right and as the means for bringing about a transformation towards a
more humane and enlightened society.”

fora &1 gFaTaen # seaw fHar 12T ¢ - "WER R Y, v A JUER AR 30w AT aUT vqg qAT B
HIY IREds A & WU F T A wafod araf@war & §1"

[Question ID = 675]

1. Yashpal Committee Report / Terarer AT gfddgst [Option ID = 2697]

2. Kothari Commission / shI&RT 3T31eT [Option ID = 2699]

3. Ramamurti Committee Report / T#3f wfAT T ufddest [Option ID = 2698]

4. National Curriculum Framework (NCF-2005) / ITSERT grag=raT T av@r (NCF-2005) [Option ID = 2700]

Correct Answer :-
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« Ramamurti Committee Report / THATT AfATA & gfddgst [Option ID = 2698]

14) Which of the following recognizes that “"Persons with Disabilities are valuable human
resource for the country and seeks to create an environment that provides them equal
opportunities, protection of their rights and full participation in society.”

farafaf@a # @ sl a7 A & "R saf@a 3o & v Aegame AmT darue § 3t oF T ararEor
T AT S 37 AT T, 37 AAFRI Fr GaT AR FaArr F qot smafierdt wer #¥1"

[Question ID = 668]

1. Right of Children to Free and Compulsory Education (RTE, 2009) / s=at &t o 3R ifarardr Rrewm &
3f8¥$R (RTE, 2009) [Option ID = 2671]

2. National Policy for Persons with Disabilities, 2006 / fasereT eafFar & foaw Isdrg Aifd, 2006 [Option ID =
2672]

3. The National Policy on Education, NPE-1986 (modified in 1992) / frat ot Isery Afa, tardis -1986 (1992 &
Tenfara) [Option ID = 2669]

4. The Persons with Disabilities (Equal Opportunities, Protection of Rights and Full Participation) Act, 1995 /
Taeretrer safeFa (FATE 3raEy, fAHRT &1 E@&T07 3R qoT srefer) rfafaaa, 1995 [Option ID = 2670]

Correct Answer :-

« National Policy for Persons with Disabilities, 2006 / faerelreT cafFddr & forT TSET wrfa, 2006 [Option ID
= 2672]

15) Which of these tests are projective tests?
a. Thematic Apperception Test

b. Rorschach Inkblot Test

c. Raven’s Progressive Matrices

d. Children’s Apperception Test

goT G{I&ToTT & ¥ Fia-77 wardr gdiayor 2
i. Rwaara gwear gdieor

ii. QAT FT TITEY-trear gHiaTor

iii. &= & worfaehe @

iv. T T F9cgsT gdietor

[Question ID = 731]

1.a,b&c/a, b 3R c[Option ID = 2922]
2.a,b, &d/a, b3 d[Option ID = 2924]
3.a &d/a 3R d [Option ID = 2923]

4, a &b/ a 3R b [Option ID = 2921]

Correct Answer :-
« a,b,&d/a, b3 d[Option ID = 2924]

16) Which of the concept is most closely linked with the idea of Lev Vygotsky’s theory of the ZPD
(Zone of Proximal Development)?

Flet W Hheda! a7 araicaant & 3. 9.3, (Feitvry R #1 87) ¥ Ruead F 7o 3f0F Aeean & 323§
e

[Question ID = 754]

1. Scaffolding / EhmhiTeser [Option ID = 3016]
2. Brain Storming / faarTaer / faa-A4« [Option ID = 3015]
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3. Mind Mapping / #feass Af=0T / f9a A== [Option ID = 3013]
4, Conservation / T80T [Option ID = 3014]

Correct Answer :-
» Scaffolding / TrhITeseT [Option ID = 3016]

17) Which type of intelligence in Gardner’s theory of Multiple Intelligence relates to ‘the ability
to think three-dimensionally’?

IR A agEE gy Riaea # frw v R A R, B-amanh s A s @ g 2
[Question ID = 755]

1. Bodily-Kinesthetic Intelligence / MIRes-a1fadadr gfig [Option ID = 3020]
2. Spatial Intelligence / TaTfA® ﬂﬁ [Option ID = 3018]

3. Mathematical Intelligence / a1foTc gfg [Option ID = 3019]

4. Naturalist Intelligence / El?fﬁf‘q’@gﬁ [Option ID = 3017]

Correct Answer :-
» Spatial Intelligence / ¥Tfas gfg [Option ID = 3018]

18) Which one of the following is not a part of 'Being needs' of an individual?
o & & a1 vs cafEa iy ‘diger gy’ 1 v qT A 82
[Question ID = 759]

1. Empathetic Existence / FeTefe{fcl 3if&cica [Option ID = 3035]

2. Self-actualization / 3TTcATefs{fcy [Option ID = 3036]

3. Aesthetic appreciation / ®iedare 3if®#Eg=T [Option ID = 3034]
4, Intellectual achievement / sifiger 39afetr [Option ID = 3033]

Correct Answer :-
« Empathetic Existence / @gTefe{fat 37f&cca [Option ID = 3035]

19) Which was the first comprehensive educational plan formulated by the CABE
CABE @il IR & 71§ qgall carqs Af@sw disrer ot
[Question ID = 733]

1. Gokhale’s Bill / i@er &r fa€ges [Option ID = 2931]

2. Ramamurti Committee / TFH[d GfATT [Option ID = 2932]
3. Sargent Report / ETste gfddger [Option ID = 2930]

4, Adam'’s Report / Ts# &1 gfadea [Option ID = 2929]

Correct Answer :-
« Sargent Report / @Teic iades [Option ID = 2930]

20) Albert Bandura developed a reciprocal determination model which consists of three main
factors that are:

Heaé Tegl A U IREIRS fawaor ufyas Refdd fr e e qer s ARa Ea -

[Question ID = 758]
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1. Curiosity, Insight, Exploration / {54, 3iaefee, 3=awoT [Option ID = 3030]

2. Behavior, Person / Cognitive, Environment / c0dgR, eafad / EaTlcHeh, aTaraxor [Option ID = 3029]
3. Observation, Environment, Experience / 3dellehe, QTdTa 1T, 37s3Hd [Option ID = 3032]

4, Observation, Learning, Insight / 3T@eitehet, 3TRTH, 3ide®e [Option ID = 3031]

Correct Answer :-
» Behavior, Person / Cognitive, Environment / S0dgR, saTad /| HaTdlcHeh, araraior [Option ID = 3029]

21) Tests in which scores are compared to a set performance standard are

gdreror foree 3 Y o F v AU veeie A & gorar w3 78 8
[Question ID = 661]

1. Aptitude Tests / 31faTerar gf&Tor [Option ID = 2644]

2. Diagnostic Tests / #e1fae gdieTor [Option ID = 2643]

3. Norm- Referenced tests / ATIeh-Tefaa adigTor [Option ID = 2641]

4, Criterion- Referenced tests / f@&g-Hefaa gdiaToT [Option ID = 2642]

Correct Answer :-
« Criterion- Referenced tests / Ay-aefaia gfeTor [Option ID = 2642]

22) When two independent coders code the same test and then compare scores, this is

ST &Y FqAT Hhdd FATT TN FT Fha IR 30F q1E 3HHT HY Jololl F ¢ Al T8
[Question ID = 735]

1. intercoder reliability / 3cR-Hehde TA2@HAIAT [Option ID = 2939]
2. intercoder validity / 3aX-Hehdsh d4dr [Option ID = 2938]

3. dual reliability / gad faa@=i1aaT [Option ID = 2940]

4. dual code method / gdd Hehd fafel [Option ID = 2937]

Correct Answer :-
» intercoder reliability / 3TaR-Hahdeh f[a2aa=igar [Option ID = 2939]

23) When an adolescent conforms to parental wishes without considering alternatives regarding
identity, it is called

9 T FUR gga & aR F RAsvedl W Aar R 3 aArar-Rar #1 geomsit & gfa s giar g, oY 3§ wa
TR

[Question ID = 721]

1. identity diffusion. / 9gdT«T 9H [Option ID = 2884]
2. foreclosure. / qUI&tr [Option ID = 2881]

3. alienation. / feserEsT [Option ID = 2882]

4, moratorium. / 9fds=%r [Option ID = 2883]

Correct Answer :-
« foreclosure. / qRI& [Option ID = 2881]

24) Identify the correct order of the steps in the creative thinking process:

TIATCHS IfhdT A HEl A & JST HT IgdTe Hi:
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[Question ID = 757]

1. Insight, Preparation, Evaluation, Incubation, Elaboration / 3¢S, 3T, Hediehs, 35ATA, fAFdR
[Option ID = 3028]

2. Elaboration, Evaluation, Preparation, Insight, Incubation / fa¥dIR, Heaiehst, 3TATSTe, 3defte, ISATI
[Option ID = 3025]

3. Preparation, Insight, Incubation, Elaboration, Evaluation / 3Ta1sie, 3defse, 3SATE, aEdR, Hedidhst
[Option ID = 3027]

4. Preparation, Incubation, Insight, Evaluation, Elaboration / 3a1ste, 3T, Adefse, Hedise, fAFdR
[Option ID = 3026]

Correct Answer :-

» Preparation, Incubation, Insight, Evaluation, Elaboration / 3TaYsisl, 3SHTYs, e v, Hedid, AR
[Option ID = 3026]

25) Approach which focused on analysis of component of consciousness is called

3UNTH, S AT F UeHh & e wWHea g A FerAar g
[Question ID = 725]

1. Structuralism / @¥@=ITarg [Option ID = 2899]
2. Behaviorism / egggidrg [Option ID = 2900]
3. Constructivism / Td=I1dre [Option ID = 2897]
4, Functionalism / fshaTcdear [Option ID = 2898]

Correct Answer :-
« Structuralism / E==ITdTE [Option ID = 2899]

26) NAEP (1978) stands for
NAEP (1978) fFusT affica 9 ¢
[Question ID = 742]

1. None of these / 78 & FI$ gl [Option ID = 2968]

2. National Adult Education Planning / IS¢ aa&ss T ISTAT [Option ID = 2966]

3. National Adult Education Programme / Irsérr ga&eh 18T &1dsa [Option ID = 2965]

4, National Awareness towards Environmental Programme / 93TavoT &1 & Yid TS STITESHAT [Option
ID = 2967]

Correct Answer :-
« National Adult Education Programme / IrseIT aa¥ah 21811 Fish# [Option ID = 2965]

27) Certain practical recommendations are made in educational theory on the basis of its
structure which contains/ &% fgia # $o sa@eRF Tl S FHHR GIGAT A JTUR q418 78, orwad
HATASE §

[Question ID = 663]

1. assumptions about the desirability of ends, about the nature of society and about teacher’s knowledge and
teacher’s pedagogical methods. / *3ifcie TRUTE T TSI, "FATS HT Fhia’ 3R RIeTh & AT va Riafh
1 erfoTe fAfEl’ & IR A 3aurRemd | [Option ID = 2652]

2. assumptions about the desirability of ends, about the nature of children and about knowledge and
pedagogical methods. / *3ifcar aRUTH Fr ara=iIar, ‘st HT Jhid’ HR A1 vg Aeifors [T & sv A
3aYRUTA | [Option ID = 2649]
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3. assumptions about the desirability of positive results, about the nature of teacher’s knowledge in society
and about the selection of pedagogical methods. / ‘G&RTIcHS TRUMH Fr aTSAIAT, ‘FA&TRT FHT FATT H AT
T TIHTE’ 3R Perforer AT & T9a’ & IR & 3rg4arRomd | [Option ID = 2651]

4. assumptions about the desirability of positive results, about the nature of society and about selection of
knowledge and teachers’ nature. / ‘HehRTcHS GRUTH T ATSAIAT, "FHTS @l Tehic' 3R AT T fRueTet &
TIHTT & TIA' & R H ITUROMY [Option ID = 2650]

Correct Answer :-
« assumptions about the desirability of ends, about the nature of children and about knowledge and

pedagogical methods. / *3ifc# aRoTe $r areeiaar, ‘et Hr geia’ 3R e v daforr [t & an
H 3gurRomA| [Option ID = 2649]

28) In addition to language, mathematics, natural sciences and social science, National
Curriculum Framework 2005 also recognizes the following areas of learning:

a1, 10T, wfas R i wmnfors Rane & sreman, T8 greg=at 1 Fai@r 2005 Haa F
farafaf@a &t # st egar & &:

[Question ID = 689]

1. Health and Physical Education; Work and Education; Education for Peace / Taree 3T emditss Rvem; i
wq fretr; enfar & fore fRrer [Option ID = 2756]

2. Aesthetic Education; Work and Education; Education for Peace / @icaarer fram: &1 va fver: enfa & faw
forear [Option ID = 2755]

3. Aesthetic Education; Health and Physical Education; Work and Education / Tfedarer frem: wareey A
IR fRUeTr; S wa few [Option ID = 2753]

4. Aesthetic Education; Health and Physical Education; Education for Peace / gledary fRrem: Tareey 3R
QIR fRrer; enfa & forw fRrear [Option ID = 2754]

Correct Answer :-

« Health and Physical Education; Work and Education; Education for Peace / TarEey 3R emiiRer f2veTr;
$r ug e, enfar & fore fRreir [Option ID = 2756]

29) According to Krishnamurti, the right kind of education, while encouraging the learning of a
technique, should help people to:

FEUTHTS & HTAR, TE TSR Y a1 F, AATA Fehelteh) Y WA FIQ FAL, Al H Agg F=A Ay

[Question ID = 707]

1. Experience the beliefs of life / SifaeT ST AIAT3T & 37eJ3Td Ll A [Option ID = 2828]

2. Experience the dual process of life / SfiaeT T grgr IfshaT T 3737d I # [Option ID = 2826]

3. Experience the complicated processes of life / Sfiast T Sfeer gfsharait & HAHT a1 # [Option ID = 2825]
4. Experience the integrated process of life / Uﬂﬁle SitaeT ehr SfshaT & ygrmam‘r # [Option ID = 2827]

Correct Answer :-
» Experience the integrated process of life / TehIshc SiiasT T AT T 37T FHLel A [Option ID = 2827]

30) According to Kohlberg, at what level is moral development completely internalized and not
based on others' standards?

Freradt & HJAR, Afas Rwm fFFw Fav o qoF 77 @ FAERT v Rl & A o A0 smaia € g 82
[Question ID = 726]

1. Preconventional / d-93#GReTe [Option ID = 2901]
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2. Post-conventional / 929-93F9{19Td [Option ID = 2903]
3. Conventional / 9{F9T9Td [Option ID = 2902]
4. Justice / =1 [Option ID = 2904]

Correct Answer :-
« Post-conventional / 9T-93FTTd [Option ID = 2903]

31) According to Karl Popper, experiments in science
FTel 9T F AR, s & yahr

[Question ID = 704]

1. can disprove the theories. / TAETAT &I Tl &€ X @t &1 [Option ID = 2814]
2. sometimes prove theories. / F#T-F#T TAgTAl I @€ F¥d &1 [Option ID = 2816]
3. prove the theories. / FgT=dr I &g &¥d &1 [Option ID = 2813]

4, have no relation to theories. / T&gidl & #I$ TaY AT &1 [Option ID = 2815]

Correct Answer :-
« can disprove the theories. / Ta<Tdr T Teld &€ T TFd &1 [Option ID = 2814]

32) A good measure of Central tendency when scores are in ordinal scale will be?

FAT wgfed 1 FI1 UF HTOT AT § T IHF FTAS e 9 g
[Question ID = 666]

1. Mean / #€THTA [Option ID = 2661]
2. Range / [a¥ar [Option ID = 2664]
3. Mode / EIE?—l'i?F [Option ID = 2663]
4. Median / #EdTh [Option ID = 2662]

Correct Answer :-
» Median / #&391% [Option ID = 2662]

33) Operation Black Board was aimed at

T Solh 915 T 3837 4T
[Question ID = 714]

1. providing Black Board in all classrooms. / T3 F&T3HT 7 ATHYE YT &AT| [Option ID = 2853]

2. providing smart boards in all classes. / T3y FaI31T & TATE-S YTt =] [Option ID = 2855]

3. providing Basic learning material for all children. / @8t srel & forw gizmer Rrator AaalT Were FRar|
[Option ID = 2854]

4, repainting black boards. / sei& a5 &1 Ry & Ue &TAT| [Option ID = 2856]

Correct Answer :-

+ providing Basic learning material for all children. / &3fr sreail & forw giarér RiaTor Al Yers HL=r|
[Option ID = 2854]

34) With which of the following is the concept of Zone of Proximal Development associated?

e & & Thas ary "wHiory e & 8 AT 3auron 59 §s 82
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[Question ID = 664]

1. Behaviorism / egdgidle [Option ID = 2654]

2. Ethology / 3maRfa=TsT [Option ID = 2655]

3. Psychoanalysis / #=A1Ta2eNoT [Option ID = 2656]

4. Social cognition / HTATIAS HaTd [Option ID = 2653]

Correct Answer :-
« Social cognition / @A TaATT [Option ID = 2653]

35) Meanis
HACOAT ¢
[Question ID = 680]

1. the statistical average in which all scores participate / ITfET 3itad, T T TR H9T o § [Option
ID = 2720]

2. the most frequently occurring value / T8 319 SR 37TeT aTelT A [Option ID = 2717]

3. the only measure of central tendency / e 9dfcd &T THATT 39T [Option ID = 2719]

4, a value that divides the data in two equal parts / Ter HTeT, i HTeha! &I &F gUa /19N & Ffag Far g
[Option ID = 2718]

Correct Answer :-

« the statistical average in which all scores participate / TEIhIT 3iHd, oas T TR AT o &
[Option ID = 2720]

36) Most frequently occurring number in a set of numbers is
HEATH & U BAE A T HUF IR 31 qrell HEAT Fgard §
[Question ID = 673]

1. range. / 9G8R [Option ID = 2692]

2. standard deviation. / AT fdae=T [Option ID = 2690]
3. median. / #&4T& [Option ID = 2689]

4. mode. / agaizﬁ [Option ID = 2691]

Correct Answer :-
« mode. / Elg?—rliﬁ [Option ID = 2691]

37) Languages are the medium through which most knowledge is constructed so a teacher must
remember that

HITT 3 ATETH & o A &1 ga@ 310 ATor B smar §, sdfaw [Rrere 1 Ror @ar 9k #
[Question ID = 705]

1. all learners must learn in several possible mediums and ways. / Tt frenfat #r it aregst 3Rk aAEf &
Hr@e=r a1fgw| [Option ID = 2820]

2. all learners must learn to speak fluent English and other important languages. / @it fRreTTf=T +F yarg-fer
33T 3R 3T FgcauT HIWI3HT St Hr@elr arfgw| [Option ID = 2817]

3. they must be given space in all knowledge systems and structures. / 3¢ T AT SFTEATHT 3R FITATHT
H ¥y &g Sirr anfgwl [Option ID = 2819]

4, they are closely tied to the thoughts and identity of the learners. / @ TR 3R et & ugare & Asean

# ¢ g §1 [Option ID = 2818]
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Correct Answer :-

38) Kothari Commission recommended what percent of GDP to be earmarked for education?

FISHT AT A Raw & fov A & fFaa gfdea e # AuiRa s Araegiadre ?
[Question ID = 709]

1. 5 [Option ID = 2836]
2. 10 [Option ID = 2833]
3. 20 [Option ID = 2834]
4. 6 [Option ID = 2835]

Correct Answer :-
e 6 [Option ID = 2835]

39) A standardized tool should be/T& ATTHIFA ITFHIOT g1 AIET
[Question ID = 685]

1. Valid and time bound / 3% 3R §AIEE [Option ID = 2740]

2. Periodic and testified / @Taf8@e& 3 gATT0Td [Option ID = 2738]
3. Reliable and valid / f@2a@=1rar 33X 3% [Option ID = 2739]

4, Reliable and general / T[d9ad=11T X @AY [Option ID = 2737]

Correct Answer :-
« Reliable and valid / Ta2a@e=ira 3R ar [Option ID = 2739]

40) "Diversity of stimulation means novelty, and novelty means challenge to thought” is the
statement given by to include and celebrate diversity in schools:

"SieHTEe 1 ATt F1 3 ¥ adieran, AR adear F 7d Faw F gt & § 97 Fue Regreat # R
&1 3cHd AT 3R 39+ FfFAfaa F & faw gaRT T I1AT 8

[Question ID = 690]

1. Rabindra Nath Tagore / Ifdg=112r 291X [Option ID = 2758]
2. Mahatma Gandhi / #&TcAT 3 [Option ID = 2757]

3. John Dewey / SA1sT 14T [Option ID = 2759]

4, Paulo Freire / 913l Y [Option ID = 2760]

Correct Answer :-
« John Dewey / SlisT 31T [Option ID = 2759]

41) Rina is popular among her relatives and family friends for being very obedient and helpful.
She receives small tokens of appreciation from them which really pleases her. She is evidently at
the following Stage of Kohlberg’s theory of moral reasoning.

ﬂm,mmﬁuﬁmqﬁaw#ﬁﬁﬁmagammmsﬁ%mmhma’m’fﬁmm
& BIE TPl Y YT HAT 3/ HcATAF HATET FIAT &1 I8 TISCTIT Hidaq & Afasw-d& RAga & Ae=faf@a
0T 9T |

[Question ID = 677]

1. Good Boy- Nice Girl Orientation / 3/<BT #ISehI-3=ST ogehr 3=H@dT [Option ID = 2707]
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2. Punishment-Obedience Orientation / gU3-3TATHI Xl 3eH@dT [Option ID = 2705]
3. Social Contract Orientation / @THATST 37eJaitr 3=H@dT [Option ID = 2708]
4. Personal Reward Orientation / afFdaTd REHR 3=HEAT [Option ID = 2706]

Correct Answer :-
+ Good Boy- Nice Girl Orientation / 3&T AShI-3HTH! F-l?,ﬁBFﬂE?IT [Option ID = 2707]

42) Education ought to be for them (children) a kind of insurance against unemployment. Whose
viewpoint is this?

fRratr 351 (F=a) o R F RAeg o gar Tifge) g frasr efewior §2?
[Question ID = 740]

1. Aristotle / 3&] [Option ID = 2960]

2. Rabindranath Tagore / Ifd=gaTd 23T} [Option ID = 2957]
3. Mahatma Gandhi / #gTe#T e [Option ID = 2958]

4. Pluto / Te[eT [Option ID = 2959]

Correct Answer :-
« Mahatma Gandhi / #FgTcAT aTrely [Option ID = 2958]

43) Educational psychology possesses a well-organized systematic body of facts which is
supported by the

At Fafase, azal &1 v cgafeya e §, o fF aafda @
[Question ID = 712]

1. Laws and principals of nature / Wepfd & faaar 3R f&@ia garr [Option ID = 2846]

2. Biological laws and principals / 3tfae sIefeT 3R f@eera garr [Option ID = 2845]

3. Guidance and counselling / ARTELTA X 93T gaRT [Option ID = 2848]

4. Psychological laws and principals / #=iTd=T{ees &lefeT 3R Aeare garT [Option ID = 2847]

Correct Answer :-
« Psychological laws and principals / FeId =T Tefa A feara garr [Option ID = 2847]

44) If a child is born deaf, he will face difficulty primarily in:/39R & ToaT afoR a1 @Y &, 39 &g
T H HTSATS HT WTHAT HIAT IS9M:

[Question ID = 692]

1. Adapting biologically / Sifd® ®9 & 3efsherel [Option ID = 2768]

2. Going through Erikson’s stages / UReH=T ! HGEATHT & I[SiAT [Option ID = 2767]
3. Learning by language experience / #TYT-37e#1d €@RT HTE3TA [Option ID = 2766]

4, Relationship with parents / #Tar-fadr & &1 §& [Option ID = 2765]

Correct Answer :-
« Learning by language experience / HTST-3Hd GaRT 377891 [Option ID = 2766]

45) Who of the following said this "I am strongly of the opinion that women should have the
same facilities as men and even special facilities where necessary".

frrafaf@a # @ free Fa1 @ "4 I8 Tedqds A § B Afgensit H qeet F g gRue sk ggras
faery gfene, Sret smaeds 8" fAwE aifgel
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[Question ID = 669]

1. S. Radhakrishnan / . IrarghsoTs [Option ID = 2673]

2. Sri Aurobindo / &t 3Rfa=< [Option ID = 2676]

3. Mahatma Gandhi / #gTcAT a1l [Option ID = 2675]

4. Swami Vivekananda / Tat#HT fddsTsteg [Option ID = 2674]

Correct Answer :-
« Mahatma Gandhi / #gTHT amefy [Option ID = 2675]

46) Who of the following emphasized that "If you do not raise the women who are living
embodiment of the divine mother, don't think that you have any other way to rise".

frafaf@a & ¥ RFue oo 3o Fer @ "afy sma afeensit Y ¢ 3o1a & S Reg A &1 @ag sgar &, A w A
WA % ATIH IRT FW 35 FT I+ FE AW "

[Question ID = 662]

1. Rabindra Nath Tagore / Tdleg =T ¢3MT [Option ID = 2647]
2. Mahatma Gandhi / #gTcAT a4 [Option ID = 2645]

3. Shri Aurobindo / #Y 3RTd=¢ [Option ID = 2648]

4, Swami Vivekanand / TarHT fddshrsig [Option ID = 2646]

Correct Answer :-
» Swami Vivekanand / EaTHY fddehrsig [Option ID = 2646]

47) Who translated Binet test of Intelligence into English?
ez ¥ Riete v @1 3N ¥ srepare et R
[Question ID = 717]

1. Lewis Madison Terman / @Tr A48T T3H=T [Option ID = 2868]
2. John Dewey / Si1sT 34T [Option ID = 2866]

3. Herman Ebbinghaus / g3& tfsargia [Option ID = 2867]

4. Leona Tyler / fordi=r et [Option ID = 2865]

Correct Answer :-
+ Lewis Madison Terman / o3& #fSHeT <3&=T [Option ID = 2868]

48) Who believed that "Education is the development in the individual of all the perfection of
which he is capable”.

Fiet ATTar o1 F "faw 37 qotar #1 afFa # e § oW aw qaA g
[Question ID = 676]

1. Froebel / IseT [Option ID = 2704]

2. Aristotle / 3IX&d [Option ID = 2702]

3. Kant / sle [Option ID = 2701]

4, Pestalozzi / 9&caTaiT [Option ID = 2703]

Correct Answer :-

« Kant / &1c [Option ID = 2701]
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49) Who stated that "Children should never receive punishment as such, it should always come
as the natural consequence of their action".

frasr wgr & "a=al 1 Ft ot o AT e aifge, a8 g 3 FEATE & Fanfas TR F T F H=n
Trfge” |

[Question ID = 683]

1. Rousseau / ®4T [Option ID = 2729]

2. Kilpatrick / ferdfess [Option ID = 2731]

3. Dewey / SrdT [Option ID = 2730]

4, Swami Dayanand / EGTHT gaTelw< [Option ID = 2732]

Correct Answer :-
» Rousseau / 4T [Option ID = 2729]

50) In Art Education, training of the hand and the eye is only a tool, the real objective is to build
a:

el Y e &, g1 30T 7@ F1 AfARTOT Faw TH ITFOT §, IHFT AATAD 3627 &
[Question ID = 711]

1. creative, intelligent and sharp identity / TaeTcHe, §f&HATA 3R FTr qgare S fAATOT [Option ID = 2844]

2. creative, confident and smart personality / TadTcHe, ATcATAard 3 3TFve gfFdaca &1 ST [Option
ID = 2843]

3. creative, productive and developed economic identity / T&=TcH, 3curea 3R fawfad 3nfds ggarT #r
faAToT [Option ID = 2842]

4. creative, fulfilled and well-balanced personality / Ta&Tc#e, IRYUT 3R 3! TRe § Tdfod safdFdea &t
faAToT [Option ID = 2841]

Correct Answer :-

« creative, fulfilled and well-balanced personality / TaeiTcaeh, TRYUT 3R 3reeh e & Hfold edfdFdcd Fr
faAToT [Option ID = 2841]

51) Magna Charta of Indian Education was
AT Y& &1 #Aeemm @wrer ar
[Question ID = 723]

1. Macaulay Minute / #aTel f&e [Option ID = 2890]
2. None of these / 78 & IS FAgT [Option ID = 2892]
3. Adam’s Report / UsH &I yiddcsT [Option ID = 2891]
4. Wood's Dispatch / g3 @ f3¥4@r [Option ID = 2889]

Correct Answer :-
« Wood's Dispatch / g5 @ f3&d=r [Option ID = 2889]

52) Critical Consciousness

HATAGATcHS dddT
[Question ID = 697]

1, is untrue / 37/8cT g [Option ID = 2788]
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2. is helpful in critically examining the situation / FHTATG TcHS &9 H AT FT ST F H gl ¢ [Option
ID = 2787)

3. seeks to bring critical awareness of individual / daTFde Fgca & UTd SRR AT ST ATedT & [Option ID =
2786]

4. seeks to uncover the ideological distortions of knowledge / =TeT &t d=TRe fashfaral T ISR FET =6 &
[Option ID = 2785]

Correct Answer :-
» seeks to uncover the ideological distortions of knowledge / 7TeT #T d=TRe A AT HT IATTR FIAT ATEAT
& [Option ID = 2785]

53) Exchange of text, graphics and sound by two or more people (connected to the internet) at
the same time comes under

ar a1 3ifls J F ganT Rwgaeg 1 Rfawg, 3w ik cafd (sreteie & qarr wafed) &1 & @ §7d W
AT |

[Question ID = 679]

1. E-mail Communication. / 3-8 T [Option ID = 2715]

2. Asynchronous Communication. / 3/&@H& T el H9R [Option ID = 2714]

3. Synchronous Communication. / THeIfels HAR [Option ID = 2713]

4, Non-Synchronous Communication. / 3R-8&&1fele IR [Option ID = 2716]

Correct Answer :-
 Synchronous Communication. / §HITelss FAR [Option ID = 2713]

54) How much is the coefficient of Kurtosis in a normal probability curve.

TS WA WIAFAT aF & FAT HT 0N e grem|
[Question ID = 695]

1. 0.336 / 0.336 [Option ID = 2780]
2.0.263 / 0.263 [Option ID = 2777]
3.0/ 0 [Option ID = 2778]

4.0.363 / 0.363 [Option ID = 2779]

Correct Answer :-
» 0.263 / 0.263 [Option ID = 2777]

55) A type of physical disorder that involves lack of muscular coordination, shaking or unclear
speech is known as

T YR T ARIRF BFR Sad ARt & gasag i 51, F9a 91 3T HvoT 8t &, HFETH
SATAT ST &

[Question ID = 756]

1. Articulation disorder / faaR-HY=T 312reFddr [Option ID = 3023]
2. Epilepsy / @¥&T9T [Option ID = 3022]

3. Cerebral Palsy / #f&dsa garard [Option ID = 3024]

4. Down Syndrome / 313 f&319 [Option ID = 3021]

Correct Answer :-
» Cerebral Palsy / #T&dsH g&rand [Option ID = 3024]
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56) Hippocampus is found in

T4 icTasr:) H 9T ST
[Question ID = 716]

1. Ecological settings / 9TR &A% U191 [Option ID = 2861]

2. Fossils / Sfrares [Option ID = 2864]

3. The circulatory system of a neonate / U w¥asiIcl TIe] T HAX YoTTelT [Option ID = 2863]
4, The human brain / #ATeTd ATEdSH [Option ID = 2862]

Correct Answer :-
» The human brain / ATAG ATETSH [Option ID = 2862]

57) Losing the chance to go to play with friends in a P.T period in school because you had
damaged a school window in the last period is an example of:

fagarea # 1.8, Fan & Fal & @1y Waa F1 AlwT @7 FA16 3194 ot Fa # Rggreag f @z
gifaarea w1 R a1, 3w o sameor B

[Question ID = 752]

1. Positive Reinforcement / H&RTcHS FearaoT [Option ID = 3005]
2. Punishment by removal / feserdeT gaRT §Us [Option ID = 3006]
3. Punishment by application / 3/=]91T €aRT €Us [Option ID = 3008]
4. Negative Reinforcement / FUTlcHa FeelhivT [Option ID = 3007]

Correct Answer :-
« Punishment by removal / ﬁwa‘q’ﬂ &us [Option ID = 3006]

58) Programmed Instruction was developed by

AT g e qar s B o ar?
[Question ID = 702]

1. Thomas Gilbert / at&® ffTesc [Option ID = 2807]

2. Norman A. Crowder / #iT&eT T. s133¢ [Option ID = 2806]
3. B.F. Skinner / a1.U%. [&&haX [Option ID = 2805]

4. None of these / 1H | I3 wd! [Option ID = 2808]

Correct Answer :-
s B.F. Skinner / T.u%. f¥aT [Option ID = 2805]

59) Aschemaisa
U TRIAT
[Question ID = 732]

1. cognitive change. / TATATHS IRad [Option ID = 2928]

2. process of balancing old knowledge and new information. / 9= #TeT 3R 51$ SITeTehIT T Ffeldd et T
i3 [Option ID = 2926]

3. process of taking in new information and experience. / 78 STTeTsIY 3R HTHT UGT Fat T FishaT [Option

ID = 2927]
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4. category of knowledge that allows us to interpret or understand the world. / FTeT T Aoft ST & gfaar
SYTEAT el AT HASA i 3TATT ol & [Option ID = 2925]

Correct Answer :-

» category of knowledge that allows us to interpret or understand the world. / JTeT T Avfl ST &3 T T
SATET A IT HHAFA T AT et & [Option ID = 2925]

60) In the 19th century, three new powerful tendencies of thought influenced all of the social
sciences. They were

194 &Y #, AR & e 7t afFaereh ggfeaat & weit wenfos et #r vanfaa e 3 o
[Question ID = 734]

1. socialism, parochialism and evolution / FHTSTATE, HehroTar 3R swfAs-fa&ra [Option ID = 2935]

2. cartesianism, positivism and evolution / FIEfFIAAE, UcaeTare 31 sfAs-fasra [Option ID = 2936]
3. positivism, socialism and evolution / Ycg&TdTe, GATSANG R shidAw-fdera [Option ID = 2934]

4, positivism, humanitarianism and evolution / YcaTaTe, ATAadIalE 3R sifAsw-fdsra [Option ID = 2933]

Correct Answer :-
« positivism, humanitarianism and evolution / YcJ&TdaTe, AT 3 HhiAD-darg [Option ID = 2933]

61) Choose the pair of theorists who have worked in similar areas.
a. Binet & Terman

b. Gardner & Sternberg

c. Piaget & Kohlberg

d. Freud & Erikson

RrgiaaRl & o7 F1 919 W, Fegia T a7 & w14 )
a. faaec ik A=

b. M= 3 Feaaar

c. ogTat A et

d. B1as 3 thReas

[Question ID = 706]

1. a & b/ a 3R b [Option ID = 2822]
2.a &c/ a 3iX c [Option ID = 2823]
3. b &d/ b 3R d [Option ID = 2824]
4, c & b / ¢ 31X b [Option ID = 2821]

Correct Answer :-
« a&b /a3 b [Option ID = 2822]

62) Systematic change in mental processes that underlie all learning and performance is
referred to as

it drasr 3R el F1 gHera arely A uiFanst F sgafeyq aReda S Feraar
[Question ID = 722]

1. Cognitive Development / aTdTcHS Taehrd [Option ID = 2886]
2. Moral Development / #fa@& faer T [Option ID = 2885]

3. Intellectual Development / siifga fa@m@ [Option ID = 2888]

4. Physical Development / 2mfiReF fdsra [Option ID = 2887]
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Correct Answer :-
 Cognitive Development / TaATATcHS fasrd [Option ID = 2886]

63) Anil is thirty years old and is unable to decide upon a career for himself. None of his jobs last
more than six months. He exhibits signs of

Iifae e ad #1 8 3R w9 § AT v qqq@ 1 a9 9 F 37@AY T 369F 7 3 F17 o A7 9 30
AT qF 7¢I @Al T ¥ g vaftta #ary

[Question ID = 738]

1. Identity achievement / 9gdTeT 3uaifes [Option ID = 2950]
2. Identity diffusion / 9gaTel §2rF [Option ID = 2951]

3. Identity foreclosure / Jg=Te QRIseT [Option ID = 2949]

4. Moratorium / 31f&rE2@Te [Option ID = 2952]

Correct Answer :-
» Moratorium / 38T [Option ID = 2952]

64) Vygotsky theory must directly support cooperative learning strategies that are evident by
rgAeERT F g & ‘Aest Wrasr i [ravor oy 1 gade F3an aifge, Srawr g#@or g

[Question ID = 720]

1, Students in competition / @11 & wfaTay’ [Option ID = 2880]

2. Student helping each other in learning / STF-BTAIT T g@X T W@ H Aeg | & [Option ID = 2877]

3. Students are role models for other students / TIF-BIATT 3= STF-STAIHT & fAT 3ME2T & [Option ID = 2878]

4, One student helps all student to learn / Teh ST T SIF-STEA3 & W@ H FASE Hdl/Hdr & [Option ID =
2879]

Correct Answer :-
« Student helping each other in learning / BTF-BTAIT Teh g@ I @ H Aeg 1@ & [Option ID = 2877]

65) Chairman of Calcutta University Commission was

Holehed [ARATACATAT AN & egeT
[Question ID = 728]

1. S. Radhakrishnan / Td IrarehsoTsT [Option ID = 2909]
2. Kothari / sIa_Y [Option ID = 2912]

3. Mudaliar / ﬁﬁf@ﬂﬁ [Option ID = 2910]

4. Sadler / #3eR [Option ID = 2911]

Correct Answer :-

 Sadler / R [Option ID = 2911]

66) Match the following symbol words with their respective schools of psychological theories:

I I1
(i) Repressed desires (a) Functionalism
(ii) Introspection method (b) Structuralism
(iii) Heredity directs psychological development (c) Behaviorism
(iv) Humans are free to choose (d) Psycho-analysis

(e) Humanism
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frafaf@a BT 10 aha U=l F1 JUTHH 3% AqdAaF fagral a1 araEnit F 7y A #1:

I II

(i) AT FHATC (v) vFRER

(i) rcAfaeayor f[Afyr (@) Eg=Tag

(iiii) rTEAFAT A ATAF AFw F AT FA g (W) FewERaE

(iv) #eTsT ot & foT FaaT @ () FAfedvTeTw
(3) AadTaG

[Question ID = 753]

1. (i)-c, (ii)-a, (iii)-b, (iv)- d / (i)-#Y, (ii)-w, (iii)-&T, (iv)-3T [Option ID = 3009]
2. (i)-b, (ii)-d, (iii)-a (iv)-c / (i)-aY, (ii)-31, (iii)-T, (iv)-49r [Option ID = 3012]
3. (i)-d, (ii)-e, (iii)-b, (iv)-c / (i)-3, (ii)-3, (iii)-dT, (iv)-HY [Option ID = 3011]
4, (i)-d, (ii)-b, (iii)-a, (iv)-e / (i)-3Y, (ii)-a, (iii)-T, (iv)-3 [Option ID = 3010]

Correct Answer :-
« (i)-d, (ii)-b, (iii)-a, (iv)-e / (i)-3r, (ii)-=T, (iii)-T, (iv)-3 [Option ID = 3010]

67) Match the following based on Piaget’s theory of cognitive development

(1) Formal Operational Stage (a) Pretend Play

(2) Sensorimotor Stage (b) Ability to Conserve number, mass and weight
(3) Pre-operational Stage (c) Ability to think about logical possibilities

(4) Concrete Operational Stage (d) Achievement of Object Permanence

RO & gaacas R F R & 3R W Arafei@a &1 @ae &3

(1) 3ita=nRe GRS aeyT  (T) ACF FIT1

(2) TAEFIOT a7 (&) T, gegAT 3R A F [IET0T i a7
(3) q& wiwaTers raedn () arfdhe Tama=Tsit & a & qras 6 aTAar
(4) 7t wiFaTcHS Iraeyr (2Y) aFq Furhar #r sqafey

[Question ID = 748]

1. 1-b, 2-d, 3-c, 4-a / 1-d1, 2-3%, 3-H1, 4-U [Option ID = 2991]
2. 1-¢,2-b,3-a,4-d / 1-#T, 2-4ft, 3-U, 4-3Y [Option ID = 2992]

3. 1-¢, 2-d, 3-a, 4-b / 1-¥Y, 2-31, 3-T, 44 [Option ID = 2990]
4. 1-a, 2-c, 3-b, 4-d / 1-w, 2-4T, 3-dl, 4-31 [Option ID = 2989]

Correct Answer :-

« 1-c, 2-d, 3-a, 4-b / 1-&, 2-81, 3-U, 4-ar [Option ID = 2990]

68) Sending personal reply to a whole online community is breach of

TS FFYOT ATAeTg FHET HI SFFANT T F Iea? T, Ieoade Sl g
[Question ID = 693]

1. Security / §¥&TT &1 [Option ID = 2771]

2. Trust / f@2ard T [Option ID = 2769]

3. Netiquette / sie-f2Iserar & [Option ID = 2770]
4, Legality / #IT@-HITTAT &7 [Option ID = 2772]

Correct Answer :-
« Netiquette / @e-fRIserar &r [Option ID = 2770]

69) Swayam Prabha is
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G 9AT ¢
[Question ID = 665]

1. one DTH Channel / T& 31.EY.TT dad [Option ID = 2659]

2. a group of 32 DTH Channels / Scdr gl &l Teh |Hg [Option ID = 2660]

3. an independent online platform for learning / 31f&eTH & foIT U Tad T 3iaalisal &9 [Option ID = 2658]

4, a part of (online) SWAYAM platform for learning / 3187 & TaIT U (3TTelSeT) TGF (SWAYAM) HT T HTIT
[Option ID = 2657]

Correct Answer :-
« agroup of 32 DTH Channels / Scddld isTel sT Teh HHg [Option ID = 2660]

70) Among the learning disabilities, the name for a reading disorder is
eI IrAreFaansit A, UodA PR FTATH §
[Question ID = 743]

1. Dyscalculia / f3@&etshferar [Option ID = 2971]
2. Dysgraphia / f2&anftsar [Option ID = 2969]

3. Dysphasia / 2aHfAAT [Option ID = 2972]

4, Dyslexia / F3¥Faifeaar [Option ID = 2970]

Correct Answer :-
» Dyslexia / 3¥afeaar [Option ID = 2970]

71) Elaborative rehearsal is a way to transfer information from
‘REqe IR, SRR Y TR FIA FT T T §
[Question ID = 751]

1. Long Term Memory to Short Term Memory / @leeT &3 HHART & 2IC T8 AART [Option ID = 3003]
2. Sensory Register to Short Term Memory / EA4T IoTex & 2ATE TH HANT H [Option ID = 3002]
3. Sensory Memory to Long Term Memory / HdeI HART  Gredhifeies AANT & [Option ID = 3001]
4, Short Term Memory to Long Term Memory / 2IT¢ &3 AART & di=3T 28 AART [Option ID = 3004]

Correct Answer :-
 Short Term Memory to Long Term Memory / 2IT¢ €H AR { ol €7 AART [Option ID = 3004]

72) For Dewey, children are

St & forg, a=a @

[Question ID = 670]

1. active, dependent for guidance, problem-creating creatures / G, AT WX R, IHEAT FT SEL CorE
arelr 9rofT| [Option ID = 2679]

2. active, dependent for guidance, problem-oriented creatures / €3, A uT AT, HHAET-3-H9 gTofT|
[Option ID = 2677]

3. active, exploring, problem-solving creatures / TfsHd, H=aAVUT FA ATAT, GHEAT-THTHTA T aTell 90T |
[Option ID = 2678]

4, active, exploring, problem-oriented creatures / Iishd, @WisTet dTelT, HAET-3-8d groiT| [Option ID = 2680]

Correct Answer :-
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« active, exploring, problem-solving creatures / @fshd, 3=dYUT T ATelT, FHEAT-THTE a1 ATell UM |
[Option ID = 2678]

73) Macaulay wrote his famous Minute on
AFTI A WY WIAG Iod Fa for@m ar?

[Question ID = 718]

1. Feb. 2,1835 / wIa{l 2, 1835 [Option ID = 2870]
2. Feb. 2,1834 / wIadY 2, 1834 [Option ID = 2872]
3. Mar. 2,1835 / ATI 2, 1835 [Option ID = 2869]
4, Mar. 2,1834 / &TeT 2, 1834 [Option ID = 2871]

Correct Answer :-
« Feb. 2,1835 / wair 2, 1835 [Option ID = 2870]

74) Geogebra, PhET, and Stellarium are some of the examples of

fSr3nstam, PhET 3tk ®eafas 3o samEeor ¢
[Question ID = 686]

1. Discipline Specific ICT Tools / fawr [afrse 31ms.# .Y, 39T [Option ID = 2742]
2. Language Learning Tools / #TST 381 3930 [Option ID = 2743]

3. Science Learning Tools / fa3TsT 317891 390t [Option ID = 2744]

4, Mathematics Learning Tools / 30T 3ATEeT# 390t [Option ID = 2741]

Correct Answer :-
« Discipline Specific ICT Tools / Taw fafrse 315,181, 39aor [Option ID = 2742]

75) What is the value of coefficient of skewness in a Normal Probability Curve?
AT FHTSAAT T A FHAH & VI HT AT F47 52
[Question ID = 688]

1. More than Zero / =3 & 31f8is [Option ID = 2750]
2. Less than Zero / %FJ# &# [Option ID = 2751]

3. Zero / *[9 [Option ID = 2749]

4, None of these / 18 & &I3 A& [Option ID = 2752]

Correct Answer :-
 Zero [ =T [Option ID = 2749]

76) What type of data should be taken in Sampling?
AHATHIOT H fFH aE & W3 o TRT?
[Question ID = 681]

1. Which can be easily studied. / fSger 31ea3 3@ & fohar &1 ahar & [Option ID = 2722]

2. Which can be easily selected. / T5& 3 aT=iT & AT ST Geha &7 [Option ID = 2721]

3. Which represents the whole population. / S QI STsrd&aT & Sfafaftiea &d g1 [Option ID = 2723]
4, None of these. / 18 & &I5 =TT [Option ID = 2724]
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Correct Answer :-
« Which represents the whole population. / St q{T STt & &l Sfafafeied & & [Option ID = 2723]

77) Common School System was recommended by
‘FIAT Fhel ReeA’ Wegia s garr & 18 o2
[Question ID = 744]

1. Kothari Commission / @ISRT T [Option ID = 2975]

2. Hunter Commission / 8¢ #1217 [Option ID = 2976]

3. Secondary Education Commission / #ATea e 1831 31491 [Option ID = 2973]
4, National Education Policy 1986 / Irser¥r f2ret siifa 1986 [Option ID = 2974]

Correct Answer :-
 Kothari Commission / @ISIT 3T [Option ID = 2975]

78) Open Education Resources
HFa e gauT
[Question ID = 672]

1. cannot be non-digital resources / ATI-3fSce TaATET AET & ThaT & [Option ID = 2688]
2. do not need any licenses / & fardY &Y kL CSINE] T ITALTHAT Al glar [Option ID = 2686]
3. permit no-cost access / He IR T &I 3eTAT &ar & [Option ID = 2687]

4, are proprietary resources / @dfcas F@aTe= & [Option ID = 2685]

Correct Answer :-

« permit no-cost access / Hed M@ FaRr T 3JATT T § [Option ID = 2687]

79) A teacher made her student work one extra hour during break for not finishing class
assignment on time. The following is an example of

T fAETF & IR BTF F FHT G FET FA QU F & (A0 HATS & AT T HfARFA G FTH FIEAT|
frrafaf@a fraer sgrword

[Question ID = 701]

1. Positive Reinforcement / §shRIcH ‘jﬂérﬂd &l [Option ID = 2803]
2. Punishment / gus T [Option ID = 2802]

3. Negative Reinforcement / dhRTcHh gﬂé ofe1 =T [Option ID = 2804]
4. Reward / 9{&RTT &1 [Option ID = 2801]

Correct Answer :-
* Punishment / €03 &7 [Option ID = 2802]

80) Inclusive societies need to recognize the presence of diverse citizens by providing:
a. Barrier free environments

b. Advocates to ensure implementation of Disability reservation

c. Educational facilities that benefit diverse learners

d. Toilet facilities in public spaces

Choose the correct response or responses
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waTaelt gaATer 7 Ry it F safPufa i ggane & GART 3TAeY HIA d HTGTHT g
T. Y HFA Iraraor

. IreFAAT HRETOT & FHTAIA H GRARTT F & foC T

@, dftre gRamd, s Rfyy Ranfiat # anenfeaa w1

3. Wi Ty« & Alarery $r giawr

weY wfafsar ar gfafkansit 1 gama #X:

[Question ID = 699]

1.a, ¢ &d/ T, & 3R 3 [Option ID = 2793]

2. All of these / & @3 [Option ID = 2795]

3. None of these / 3T & IS 781 [Option ID = 2796]
4, b & c / & 3R & [Option ID = 2794]

Correct Answer :-
 All of these / & T3fT [Option ID = 2795]

81) The accepted value of Existentialists is:
Ifeacaaradl #1 ¥ Fd A+ ¢:

[Question ID = 737]

1. Freedom / Tada4T [Option ID = 2945]

2. Symmetry in nature / Y # FHEIAT [Option ID = 2946]

3. Enlightenment / 3TcATT [Option ID = 2948]
4, Credentials / SHTTOIEHAT [Option ID = 2947]

Correct Answer :-
» Freedom / Eaaadr [Option ID = 2945]

82) The report of the National Education Commission is entitled as

TS RY&T 3T & yfddeT F1 e+ §
[Question ID = 736]

1. Education and National Development / f21&31 3R IsE1 fasrd [Option ID = 2941]
2. Learning by doing / &3& @1 [Option ID = 2944]

3. Integrated development / 3 fdsrd [Option ID = 2943]

4, National Development Report / Is¢1T fasra 9iddeat [Option ID = 2942]

Correct Answer :-
« Education and National Development / fr&T 31 I @ ra [Option ID = 2941]

83) The symbolic aspect of introducing local crafts and production related skills and knowledge
in the school, in Gandhi’s basic education was:

aief} iy gfAare fen F aeta Fha Bhammel 7 T Rew AR scaree @ath shre aur A S v &R
1 el T H HROT UT:

[Question ID = 684]

1. Allocation of a substantive place in the school to systems of protest developed by oppressed groups. / @if3d
THE! garT fahT a70 faRter Ea&9 &1 faeamerd # U Agedqul TAT &7 311desT [Option ID = 2734]

2. Allocation of a substantive place in the school to systems of manufacturing developed by oppressed groups.
| N3 THET CarT A Sedrgst Jomell 1 fedrery # U Agcaqul EUTe T Tdes [Option ID = 2733]
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3. Allocation of a substantive place in the school to systems of resistance developed by oppressed groups. /
RS THgl ganr fasfaa gfaiy sgawdr &1 fagarery # U Agcaqul TUTA &I H1des [Option ID = 2736]
4. Allocation of a substantive place in the school to systems of knowledge developed by oppressed groups. /

Nifsd Togl ganT fosfaa Fa-faars gomelt & fagares # va Fgcaqul T4 &1 377des [Option ID = 2735]

Correct Answer :-
« Allocation of a substantive place in the school to systems of knowledge developed by oppressed groups.

| NS FHgl can f[qah 8 ATH-Ta=1e JoTTel @ faearery # T Agcaqul FUT &7 3TdesT [Option ID =
2735]

84) The purpose of which Convention is to “"promote, protect and ensure the full and equal
enjoyment of all human rights and fundamental freedom by all persons with disabilities and to
promote respect for their inherent dignity”.

e graae &1 337 ") Reaeoml & garn @ AarfeRY 3 AT Taaaar H 9141 &1, 6T T
3R 3R 397 fafea aeame & fore geem ) gafeaa s e

[Question ID = 660]

1. All of these / & @#T [Option ID = 2640]

2. The Universal Declaration of Human Rights, 1948 / #Td 31f9eRT $T ardsiif@s arwom, 1948 [Option ID =
2638]

3. The UN Convention on the Rights of Persons with Disabilities, 2006 / f&edTer cafFaal & HfAFRT I FIFA
s¢ GFAS, 2006 [Option ID = 2639]

4, The Rights of People with Disabilities Act, 2016 / feeamTsT=iT & TR 3fafaga, 2016 [Option ID = 2637]

Correct Answer :-

« The UN Convention on the Rights of Persons with Disabilities, 2006 / f&eameT cafeaar & FfHRT ]
chrd IS¢ JFHAT, 2006 [Option ID = 2639]

85) The syndrome of autism refers to which of the following difficulties in the developing child?

HTATIAE FT A&7 RAFTAT 9ol 6T AFafoiad # ¥ e Ffoasal &1 Fefia Farg?
[Question ID = 678]

1. Disturbance in eye-hand coordination / HTEG-gTYT GH-GT H 4T [Option ID = 2712]

2. Impairment in social behavior and relatedness to others / ATHTSIE a8 3R GET F ATY HEGAT H g1l
[Option ID = 2711]

3. Impairment in the ability to solve puzzles / Teell T GelsiTel HT &A1 H g1fat [Option ID = 2709]

4. Delay in the capacity to associate names with faces / A& & ATY ATH &l TFag Flel FT &HAT # 3 [Option
ID = 2710]

Correct Answer :-

« Impairment in social behavior and relatedness to others / HTATTS® eagR 3R qERT & AT Hegdl H glfel
[Option ID = 2711]

86) The Staff College was renamed as National Institute of Educational Planning and
Administration in

TP HiTST FT ATH TGAF AU STEITYT ATH T[HAATd Carfeier Us vsfAfAweerT @
[Question ID = 741]

1. 2001 [Option ID = 2964]
2. 1980 [Option ID = 2963]
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3. 1984 [Option ID = 2962]
4. 1976 [Option ID = 2961]

Correct Answer :-
« 1980 [Option ID = 2963]

87) The idea of schools clearly came from the two communities Gandhi had established in
South Africa, started in 1904, and , Which was established in 1910, provided him
with a lasting interest and faith in the potential of life in a

frerarerat 1 faw ¥ase w9 §, areft g@ry af@vor bt # TuTia fRa are & et @ s g,
S 1904 F % R o, sk ST 1910 F Furfye R ara 4, # Sitaer $Y averar
38 Tl 319 va Rearw were faa

[Question ID = 715]

1. Productive, Phoenix Farm, Wardha Ashram, rural commune / 3c91¢eh, Bifaed ®1A, guT JT8&H, JTAEoT
HHT [Option ID = 2860]

2. Productive, Phoenix Farm, Tolstoy Farm, rural commune / 3c91ca, Hifaed HTH, STAECTY BIH, ATHOT
HHT [Option ID = 2858]

3. Village, Phoenix Farm, Wardha Ashram, Village society. / 317a, Bifasq ®ra, guf 318/, 19 TATST [Option
ID = 2859]

4. Village, Tolstoy Farm, Phoenix Farm, Village society. / ITH, cTel&cId B, PfAad B, T GHTST [Option
ID = 2857]

Correct Answer :-
« Productive, Phoenix Farm, Tolstoy Farm, rural commune / 3cdrea, Bifaad BT, eToeerd HIH, ATHOT
H#HcTT [Option ID = 2858]

88) The concept of Blended-learning does not involve
AfEafAra-arfiers & eeqaT gieafad Al s &
[Question ID = 700]

1. Integration of different media and methods together / faf#eT @TereT 31X a8t 1 v A2 ThreoT [Option
ID = 2798]

2. Integration of all ways of traditional methods of teaching together / f2re1r &hr aqtearara faferat &1 v @y
ThIh 0T [Option ID = 2800]

3. Integration of all ways of communicating electronically together / TelgeIfasell T YopR & AR &7 Th AT
TehIh 0T [Option ID = 2799]

4, Integration of Classroom and e-learning together / &I 3T 2-31f99T3 T T ATY TehIoT [Option ID =
2797]

Correct Answer :-

« Integration of all ways of traditional methods of teaching together / T2r&T T RFIRTeTa Taf8rat &1 v Try
THTFIOT [Option ID = 2800]

89) The Right to Education Act attempts to put power in local hands through local bodies. Which
of the following is not responsible for the implementation for this Act?

e &1 AR wfOfATw- Tuely Femt & Aeaa |, Taea grat # ofFa &3 &1 yarw swar g1 sw sfefaas
& FAITA ¥ AT Aefa@ad & @ #l9 SAgr agt 2

[Question ID = 708]
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1. State Commission for Protection of Child Rights / TeT 31T9RT & TI&TOT & [T T 3T [Option ID =
2831]
2. Village Development Officer / 3m#T Tasrre 38T [Option ID = 2829]

3. National Advisory Council / I5ET HallgshR 9RWe [Option ID = 2832]
4. School Management Committees / faeaTerar geitrer HfATAAT [Option ID = 2830]

Correct Answer :-
« Village Development Officer / 33T faesrra 318N [Option ID = 2829]

90) The major focus of the National Policy on Education 1968 was to relate education to

fRvamr ox Tl sAifey 1968 #1 HEw ¥ faeg fRvem & waftra |

[Question ID = 682]

1. National development and child’s rights. / Ts&rT @ 3T s & 31T96R [Option ID = 2725]

2. National development and social change. / I fasrT 3R @i aR@dsT [Option ID = 2727]

3. National development and vertical mobility. / IS¢ e 31X FtaTeR aifaeierar [Option ID = 2728]
4, National development and health system. / IEIT [aehrA X FA1FLT ega+AT [Option ID = 2726]

Correct Answer :-
« National development and social change. / I T 3R @A 9Rad« [Option ID = 2727]

91) The method of Induction was given by which of the following thinkers.
IARATCA [y, Mrafaf@a Rews 7 & frasd qarr & s 4

[Question ID = 724]

1. Russell / & [Option ID = 2895]
2. Mill / T [Option ID = 2893]

3. Hicks / /@@ [Option ID = 2896]

4. Dewey / 31dT [Option ID = 2894]

Correct Answer :-
« Mill / & [Option ID = 2893]

92) The Constitution of India grants the right to religious minorities to conserve their language,
script and culture and to establish their educational institutions based on religion and language
under

AT &1 iauTe, enfiis sreqaeas! Ft ot omyT, AR 3 Fewfar & wveTor #7 3fFR 3R 37 4o vg s
W IR ARrF T & A TURT Fa & v #RFR ar B

[Question ID = 710]

1. Article 28 and 30. / aﬁﬁ‘ﬁ 28 3iX 30 [Option ID = 2838]
2. Article 28 and 29. / aﬂ?f.‘ﬁ 28 31X 29 [Option ID = 2840]
3. Article 29 and 30. / 31T<5¢ 29 3R 30 [Option ID = 2837]
4. Article 27 and 28. / 31J<0¢ 27 3T 28 [Option ID = 2839]

Correct Answer :-
« Article 29 and 30. / 3/e=c 29 3R 30 [Option ID = 2837]
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The difficulty in dealing with equality in education as a theory is its exasperating vagueness
because

U RAGd & 9 #, 06T F 87 & gAar # Fieams, 379+, IR I arell JFETSCdT $ HROT 8, TR
[Question ID = 691]

1. it is based on a political and philosophical meaning of equality. / I8 THTHAT & Teh TTailicde UG arelias HT
o 3menfka g1 [Option ID = 2761]

2. it has a complicated meaning with interesting implications. / 388 Sfee 379 & Ty Vas Afgared &1 [Option
ID = 2762]

3. it purports that all children’s life can’t be theorized. / &1 JTHYTT & o6 T3fr s=at & Siad HT AT HIoT
sTel [ohdT ST HehaT| [Option ID = 2764]

4. it treats all alike, which offends against the notions of appropriateness. / Tg 37 T & TTY Teh FHTA
SHAER &l ¢, ST 8 STFec3T Sl UROT & &g 3mard #Xd &1 [Option ID = 2763]

Correct Answer :-

» it treats all alike, which offends against the notions of appropriateness. / Ig 3« HHT & 1Y Ush THT
SIAER FC &, ST 3 STFFc3iT AT UROT & fa%g TETT Fd g1 [Option ID = 2763]

94) The Rights of Persons with Disabilities Act, 2016 provides for the right of free education to
every child with benchmark disability between the age group of

Rwemr safFaa) 1 sfter sffags, 2016,AFarmar a@ 73+ a2 F1 Jod e F1 30FR yo= Fa F
#Hrer F1 IR ¥, 97 W g At F e d 2

[Question ID = 703]

1. 0 and 18 years / 0 3{I¥ 18 &1er [Option ID = 2810]
2. 0 and 14 years / 0 31X 14 ®Ter [Option ID = 2809]
3. 6 and 18 years / 6 31X 18 &TeT [Option ID = 2812]
4, 6 and 14 years / 6 31X 14 &rel [Option ID = 2811]

Correct Answer :-
» 6 and 18 years / 6 3{IX 18 |Tel [Option ID = 2812]

95) The aims of education are decided by what considerations?

fRraT & 3827 e AR & a9 e o §2
[Question ID = 719]

1. Epistemological / FATTHATET [Option ID = 2874]
2. Metaphysical / deca#®HIATET [Option ID = 2873]
3. All of these / & 3T [Option ID = 2876]

4. Ethical / sifas [Option ID = 2875]

Correct Answer :-
« All of these / & T [Option ID = 2876]

96) The pre board examination result of English of a school indicates that the mean is 79,
median is 90 and mode is 95. Which of the following interpretations is correct on the basis of the
relationship between the measures of central tendency?

U freaTera & Wi-a1g et w1 aRoma gefar § & 3rdsh 7 el S Aegan 79 §, #wedis 90 § AR agars
95 ¥l Farg ygfa & A & T Faul & YR W fArafaf@a & § sl @ sgrear w8 82
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[Question ID = 727]

1. Fifty per cent of the students have scored more than 79 marks. / 998 9ia2rd & 38 11 o 79 3F
HfSta & €1 [Option ID = 2906]

2. Most of the students have performed poorly in the exam as indicated by a low Mean. / &5 HEIHTT Hohd
&ar & o ol #7 J rfaerer F ofieT # @we ygele far 1 [Option ID = 2905]

3. The mean is pulled towards the left due to a few students scoring low marks. / % BTl EaRT H 37 FIfed
& FRUT, HCIATA 18 3R diar g37 &1 [Option ID = 2907]

4. The class performance reflects the latest trend of students scoring high marks even in languages. / &l
YEET AT & HTWI3T e 3 871, 3T 375 Ied FXe) 1 AdieTdd Ygfed &I aATar g1 [Option ID = 2908]

Correct Answer :-

» The mean is pulled towards the left due to a few students scoring low marks. / & OTAI GaRT HH 3H
qIfed & FHIUT, HETATT a1s 3R di=r g3m ¢! [Option ID = 2907]

97) The objectives of DPEP are

it & 3R §
[Question ID = 747]

1. all of these. / & ¥3fr [Option ID = 2988]
2. to reduce difference in enrolment, drop out and learning achievement among gender and social groups to

less than 5 percent. / i1, @TaATToI HHgT & &I siTATR, 39T T W@ HT 3T 7 3T & 5 FiAerd
& & HLaT| [Option ID = 2985]

3. to raise average achieved level. / 3 9TCT ¥ Se=T| [Option ID = 2987]

4. to reduce overall primary dropout rates for all students to less than 10 per cent. / T8 ©13T & Sl
TS {9 &Y & I 10 Ufaerd @ &H &¥=1| [Option ID = 2986]

Correct Answer :-
+ all of these. / & {3 [Option ID = 2988]

98) The author of ‘Small is Beautiful’, is
‘FHIS 51 SLEIPel F AGH §
[Question ID = 729]

1. Parsons / 9r&=d [Option ID = 2916]

2. Hicks / fg=r& [Option ID = 2913]

3. Dewey / SrdT [Option ID = 2915]

4. Schumacher / [ATHT [Option ID = 2914]

Correct Answer :-
 Schumacher / [ATHT [Option ID = 2914]

99) The term ‘Continuous’ as interpreted in '‘Continuous and Comprehensive Evaluation’ does not
relate to which of the following aspects?

"ad 3R AUF FAediwa # 'qaq’ Ug Y Ay, Frafaf@a § ¥ fFed gafta adi 2
[Question ID = 667]

1. Diagnosis of learning gaps / 38378 37ca’Tel T faigTsT [Option ID = 2666]
2. Application of variety of techniques to assess the learner’s development / T1&eff & fasT@ &1 3Thole Lt

& fafaer geeller a1 water [Option ID = 2667]
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3. Use of corrective measures / §URTcHS 3UTEAT ST 94191 [Option ID = 2668]
4. Regularity and frequency of assessment / THIfATAT 3R g T 3Mehelet [Option ID = 2665]

Correct Answer :-

« Application of variety of techniques to assess the learner’s development / f2reirefl & Taerrd &1 3Tehotst
F{a & AT deheter T 91971 [Option ID = 2667]

100) One of the five guiding principles of the NCF-2005 are:
TAHITE -2005 ¥ T ARGy E Rga A s &
[Question ID = 698]

1. ensuring that learner is shifted away from rote methods. / Te=t aTelr faferat & et i g gear g
&Lt [Option ID = 2791]

2. making examinations fair, more professional and stricter. / G&T3it &Y fovsue, 3ifRe gicas IR F&d T
[Option ID = 2792]

3. designing a new curriculum for the entire country. / 9 &2 & foIT AT GT&THA I ASTAT F=111 [Option ID =
2789]

4. improving all the wrongs in the educational policy. / TRV&Tr slif # @sf srerfcrat s Gur =T [Option ID =
2790]

Correct Answer :-
« ensuring that learner is shifted away from rote methods. / I&=1 aTelT faferat & fRrewedf +r g gear
gfAfad &= [Option ID = 2791]
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